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Algebra 11 Name
Ch. 6.6 — Operations with Functions Period __ Date
Find the domain algebraically. Show the appropriate work. 2
Lo f(x)=10x-15 2. g(x)=+7x-14 3. h(x)=v5-12x % jm:Zi;s
(- 0, 00) Yx-14 20 b-12xz0 Ex+3 70
"X zY ~12%X Z-S Ix#3
Xz 2. X £z X# /%
[2, oo) (-0, 5/:2] (- co,'3/3)(/ (’ s/yl )
Let f(x)=4x+3, g(x)=6x -3, h(x)=x*+2x-1, and k(x)=—x"—3x. Find the following and simplify.
5. f4g , 6. (g-h)(x) 7. (k) (%)
Y#3 + ox%3 @3- (3e2x) (yxe3)(-39)
2 vy W
(0x>+ux SO e e
Iy*-2x-2 _ =g~ 9%
10. g-k

;. (%)(x) (state the restrictions) 9. k—g X ) |
L HIX-l yxzz0  ~X3X (X 3)  (ly=3)-x*-3x)
Ux2-3 X Z3x-(xCH3 - (px-I8x 3 3 HTX

T‘l S X#72NY
) (o) XD

Let f(x) =5% 1, g(x) =-2x*+3, h(x)=7-2x and k(x)=4. Find the following and simplify.

11. fog 12. gof 13, (kog)(x)

£(g00) 9F00) -Hox*z0xet KIGOO)
43(—2x2+5) %(5“1) K(-2x*+3)

(-2x7#3) * | -2(5x+1)"+3 ‘:L} l
'IOXZ%*’ -2(25X2+10x+1 3

-[0x*+1U - Gx*-20x-2+3

5 By B 33
» Mixed Answers: (—0031_2]; (%,E)U(g,w), (_ma_Z)U(—Z,w), (-—-oo,oo); [2’(30); 6x2+4x; _10x2+16;

4x+3
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Let f(x) =5x+1, g (x) =-2x*+3, h(x) =7-2x and k(x) =4 . Find the following and simplify.

) 4 /(r(-2)
T-2(2)

THY =

5(%;

17. (gog)(z)
9(9¢2))

-2(2)%3
-8t3
» D
g 2(-5)43
-2(25H3
- S0+ 3
-4

15. h(g(3))
-2(3)%3
-1¥t+3

=i5
T-2(-I5)
T+30
3F

18. fof
F£0)
f(5%+1)

S(Sx+0) 11

ATXASTH]
AS ¥ +(p

Mixed Answers:  —159 47, 56, 37, 25546, 202,

16. (g°/)(-2)
O(F -2))

H-2)+|
=10 +|
=4
-2(-9)*+3
2081 )+ 3
—2+3 =-159
19. fo(hog)

f(%(g(x))
f(h{ -2><2+3))

f (‘7- 27254 5)>
+ (T44x=0)
T (1+4d)

5( I+UsA+

A+20x% |
20 %
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